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;?ÙB 2022;?ÙB 2022;?ÙB 2022;?ÙB 2022----22223333    

fbyshfbyshfbyshfbysh    LLLL    50505050    nzenzenzenze 
            

gqÙB gZso dh o{ggqÙB gZso dh o{ggqÙB gZso dh o{ggqÙB gZso dh o{g----o/yko/yko/yko/yk 
 

1. ;ko/ gqÙB eoB/ bk˜wh j'Dr/.;ko/ gqÙB eoB/ bk˜wh j'Dr/.;ko/ gqÙB eoB/ bk˜wh j'Dr/.;ko/ gqÙB eoB/ bk˜wh j'Dr/. 

2. gqgqgqgq qÙB gZso uko GkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkmqÙB gZso uko GkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkmqÙB gZso uko GkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkmqÙB gZso uko GkrK ftZu tzfvnk j't/rk. jo Gkr ;ko/ gkm----eqw s/ nkXkfos j't/rk.eqw s/ nkXkfos j't/rk.eqw s/ nkXkfos j't/rk.eqw s/ nkXkfos j't/rk. 
 

GkrGkrGkrGkr----TTTT ftZu gqÙB Bzpo 1 ftZu pj[-ftebgh 15 (i-xv)  gqÙB j'Dr/. jo/e gqÙB fJZe nze 

dk j't/rk.                  15%1=15 nze 

 

GkrGkrGkrGkr----nnnn ftZu gqÙB Bza 2 s'A� gqÙB Bza 11 t;s{-fBÙm gqÙB (fit/A fe fJZe Ùpd s'A fJZe 

tke tkb/ gqÙB, ykbh ;EkB GoBk iK ;jh-rbs dZ;Dk) j'Dr/. jo/e gqÙB fJZe nze dk 

j't/rk.                10%1=10 nze 
 

GkrGkrGkrGkr----JJJJ ftZu gqÙB Bza 12-16 sZe gqÙB S'N/ T[ZsoK tkb/ j'Dr/. jo/e gqÙB d' nzeK dk 

j't/rk.           5%2=10 nze 

 

GkrGkrGkrGkr----;;;; ftZu gqÙB Bza 17 ftZu ekbgfBe (hypothetical) ;fEsh s/ nXkfos 3 gqÙB j'Dr/ 

fiBQK ftZu'A e'Jh 2 gqÙB eoB/ bk˜wh jB ns/ gqÙB Bza 18 ftZu tk;sfte ihtB Bkb i[Vh 

;wZf;nk Bz{ jZb eoB Bkb ;zpzfXs 2 gqÙB j'Dr/. fizBQK ftZu'A e'Jh 1 gqÙB eoBk bk˜wh j?. 

jo/e gqÙB gzi nzeK dk j't/rk.      03%5=15 nze  

      nzeK dh tzv     

GkrGkrGkrGkr----TTTT 15 pj[ ftebgh gqÙB 15×1=15 nze 

GkrGkrGkrGkr----nnnn 10 t;s{fBÙm gqÙB (fit/A fe fJZe Ùpd s'A fJZe tke tkb/ 
gqÙB$ykbh ;EkB GoBk$;jh-rbs dZ;Dk)  

10×1=10 nze 

GkrGkrGkrGkr----JJJJ 5 S'N/ T[ZsoK tkb/ gqÙB (20-25 ÙpdK d/) 5×2=10 AMk 

GkrGkrGkrGkr----;;;; (i) 2 (fszB ftZu'A) ekbgfBe (hypothetical);fEsh s/ nkXkfos 

gqÙB  

2×5=10 AMk 

(ii) 1 (d' ftZu'A) tk;sfte ihtB Bkb i[Vh ;wZf;nk Bz{ jZb eoB 
Bkb ;zpzfXs gqÙB 

1×5=05 AMk 

e[Zb nzee[Zb nzee[Zb nzee[Zb nze    50 AMkAMkAMkAMk 

gq:'rh gqhfynk dh nze tzv gq:'rh gqhfynk dh nze tzv gq:'rh gqhfynk dh nze tzv gq:'rh gqhfynk dh nze tzv : - 40 AMk40 AMk40 AMk40 AMk    
    

• pRojYkt/ AYktIivtI vrk   : 10AMk10AMk10AMk10AMk 
• ividAwrQI dw swmwijk Xogdwn : 10 AMk10 AMk10 AMk10 AMk 
• siQqI AwDwirq mOiKk pRIiKAw  : 10 AMk10 AMk10 AMk10 AMk 

• gkm-g[;se s/ nkXkfos fefonk L 10 nze 

gqÙB-gZso dh pDso    


